Exam lll — Tuesday, December 37 - In Class — 12:45-2:15 pm
3 or 4 questions will be taken from Lab Owls 3, 4 and 5.
Sunday, December 715t — Review , 3:00-5:00pm — ISB 135

Final Exam - Tuesday, December 10t — Marcus 131 - 8:00-10:00 am
Sunday, December 8 — Review , 3:00-5:00pm — ISB 135
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9.3 What Happens When a Nucleus Emits Radioactivity
C - Alpha Emission (4,He)

Because of the short range of absorption, alphas are not, in general, dangerous to life.
Large enough doses can cause any or all of the symptoms of radiation poisoning.

It is estimated that chromosome damage from alpha particles is anywhere from 10 to
1000 times greater than that caused by an equivalent amount of gamma or beta radiation.

From Wikipedia
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9.3 What Happens When a Nucleus Emits Radioactivity
C - Alpha Emission (4,He)

B|BIC
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Radiation found at 12 locations

P
; " 2L
Africa Experts probing the death of
former Russian spy
; . Alexander Litvinenko have
Asia-Pacific . ..
found traces of radioactivity
at 12 locations, the home
secretary has said.

Americas

Europe
Middle East

South Asia
m(l Among them are two British
England Airways (BA) planes. A third .

one is awaiting checks. Mr Litvinenko died last week in a
London hospital

Morthern Ireland

Seotland  Home Secretary John Reid told

Wales  parliament that two Russian aircraft, one of which is currently
UK Politics  at Heathrow airport, were also of interest.

Education ] ]

Magazine The Health Protection Agency said 24 people had been
i referred to a specialist clinic for tests.

Business

Health BA is contacting 33,000 passengers from 221 flights. But Mr
Science & Reid stressed the public health risk was low.

Environment
{Mr Litvinenko, an ex-KGB officer and a fierce critic of Russian

Technology ) = ) - =1 ) !
Entertainment & President Viadimir Putin, died last week of radiation poisoning.

Also in the news  Traces of radioactive
"""""""""" polonium-210 were discovered g 1 work in the one of the
in his body, and more traces of gffice buildings where

""""""""" the substance hawve been polonium-210 has been
Programmes 5 ,nd at venues he visited in detected, and we have had
Hawve Your Say  the capital on 1 November. no assistance at all from the
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9.3 What Happens When a Nucleus Emits Radioactivity

60,.Co is one of many radioactive isotopes whose
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9.3 What Happens When a Nucleus Emits Radioactivity
Positron Emission - Electron Capture — Alpha Emission
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9.3 What Happens When a Nucleus Emits Radioactivity
D - Positron Emission (°,,e) — Positron emission tomography
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4.5 Stoichiometry — Lab Owl — Review - Lab Owl 3

of K,CO; as there are in 36.9 mL of a 0.155 M solution of K,CO;7 _
000 v

/ What volume of a 0.286 M solution of K,CO; contains the same number of moles \

=

M= 58 o #ad = My

ol KeCO3 = 0.155X 0.0369 = S.7%¥10 me? KaCOs

#onod HaC0s = M xy(1)
S2x10°° = 0.286 x\(L)

3
saaxio®
Vi) -

©. %86 = ©.02
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4.5 Stoichiometry — Lab Owl — Review - Lab Owl 3

in the ilaboratory you dilute 4.00 mL of a concentrated 3.00 M hydriodic acid
solution to a total volume of 150 mL. What is the concentration of the dilute
solution ? o

=: 0.08

M

s mol :
M= VD o #md = Mxilb

#mol HI = 3.00Y0.004 = 1.20X10" mad WI
2
#mol HI 1.40Y 10

M= vy ~ o©uso ~ ©O.08M
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4.5 Stoichiometry — Lab Owl — Review - Lab Owl 3 'BQBF
kY

.

How many milliliters of an aqueous solution of 0.134 M barium bromide is needed
to obtain 4.00 grams of the salt ? - _~ 100
Ba: 13733 Br: 79.90 .. 200
#mol #9
M= Vo #mol = Mn
291.13 3
PaBry * 131.33+200%0) = Andgmd” L T Amd
# moQ Babry, = 4.003 ‘ 1 mup = |.35«X lo‘amo? Be“ja
[ 291194 "
gmd = M Vi)

1.3sxlo™ = 0.3y x (D)

VD) = 13svet - 0.\00L'lWOmL - 100m)
.34 | L
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